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- Review

1 = <p/p accepts -1 inputy
is undecidable

- Paradoxes D Russell's

② "Berry's" (likely Russell's -- -)

③ "don't write about themself"

- Regular languages (Chapter 1
,

[Sip])
- Sept 30 : Truth & Reconciliation



Reduce ACCEPTANCE to

↳: 4919 accepts -1 inputy

Example :
p to 2024 where

·Y
Duck
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One step
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Cantor's Theorem : Let flS + Power(s)
then TGscS1 skfisi----

5.statement, is a te
.

"

Russell's Paradox :

Let T be the set

T = 45/SkS] ,

Does TET ? El

ST, E TET





"Berry Paradox : Let

be the smallest positive
-

integer described by
an English sentence with

fewetha fifty words
.

-

(fifty = 50) .

2334917
-



about and only about
m

"Leslie writes aboeveryone
in town who doeswrite
about themself :"

Does Leslie write about

Leslie



Regular Languages

[Drck-recognizable]

* Regular Languages 3

&& Python-recognizable languages)
Motivation :

L : [Sestains &Y -

vacation as

a substring

simple algorithm : letter by letter
symbol by symbol
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read
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akyn) we've seen

Y 24v seen

dunk 2

See "Va"

2"y

or an "a"

Finite automator : (Q ,E ,
5

, 90 , 5)

where :

Go finite set "of States"

& alphabet



qQ
Er "the initial state

"

FcQ
- : finial states

accepting states

5 : Qx + Q



e .

g.

E = [v, a]
7 Ss/., Custome

-
-a Ov

f - 40)



Q : 49. . 9..)
F- [0)
2 = <v , a]

go is go
the initial state

Gi S(q , a) - Go

5(ga ,
V) : E

5(e . V) = 91 , Elgia)=



DFA-automaten
↑- finite
deterministic


